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Vidyashilp Education Trust’s

VISTARA WORLD SCHOOL
Mathematic Revision Sheet
Grade 3

Q1) Choose the correct option

1) The process of taking away is called

a) addition b) Subtraction c) Multiplication  d) Division

2) When 5 tens is subtracted from 9 tens we get

a)50 b)30 c)30 d)40
3) What is the successor of 999 ?

a) 1000 b)9999. c)998 d) 10,000
4) What is the predecessor of 500 - 200 ?

a) 201 b)301 c)299 d)300

5) If 1 is subtracted from 5281 , then answer will be

a) 5280 b) 5282. c) 5283 d)5285
6) What is 90 tens- 30 tens?
a)400 b)600 c)700 d)900
7) The sum of place values of 7 in 7896 and 976 is
a)700 b)7700 c)7070 d)7007
8) If 7895 is added to 0 the sum will be
a)o b)7890 ¢) 7900 d) 7895
9) What should be subtracted from 1000 to get the greatest 3 digit number.
a1 b) 0 c)10 d)5
10) choose the correct operator to make number sense true.
550 256=806
Q2) Solve the following

1) Find the value of Pand Q

P 5 2 4
+ 3 Q 6 1
4 9 8 5

2) What is the result when smallest three digit number is added to greatest three digit number?
3) Find the sum and write answer in words.

Five thousand two hundred forty three and seven thousand one hundred eighty four.
4) Frame the word problem for following.

[) 297+578 ii)890-645

5) what is 4569+2345+1233



Q3) Solve the following
1) Estimate the difference by rounding off to nearest 100.Also find the actual difference.
749 — 363

2) Frame the word problem for 2420 and 6507?

3) A retail shop has 1250 chocolates, 2523 candies and 4572 lollipops . How many items are there in all in shop?
4) In a botanical garden there were 7896 people visited in a day out of which 4758 were men. How many women visited the
Botanical garden?

5) I am a four digit number. My ones place is the greatest 1 digit number. Tens place is the number of your class grade.
Hundreds place is two times the tens place digit and and thousands digit is one less than ones place digit. Who am I?

Q4) Distance of school from Riya’s house is 1350 metres and distance of garden from school is 2340 metres.
Solve the following
Q1) What is the distance of garden from Riya’s house?
Q2) Which places is far from Riya’s house?

Q3) Which distance is more for Riya to travel from her home . Is it school or garden?
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